SUMMATIVE ASSESSMENT —I (2011)
Sepfere oie —| o004
MATHEMATICS / 7Tfor

Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fAuiRa w99 : 3 gue AfHaq 3id : 90

General Instructions:

(i)
(i)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

Question numbers 1 to 8 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Section-A

Question number 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.

Simplified value of (25)%: X (5)% is

Page 1 0f 12



(25)% X (5)% 1 TIEATehd A © :

(A) 25 (B) 3 ©) 1 (D) 5

If (x +2) is a factor of 2x3 +5x2 — x — k, then value of k is :
(A) 6 (B) —24 C -6 (D) 24
3 (x + 2) 7878 203 + 532 — x — k TGS, Ak F AR

(A) 6 (B) -24 (O -6 (D) 24

The value of p for which x +p is a factor of x2+px+3—p is :
(A) 1 B) -1 ©) 3 (D) -3
s x + p FGHE A2 + px + 3 — p F OGS 2, A p FAH I :

A 1 ® -1 © 3 ® -3

The coefficient of x in the expansion of (x +2)3is :

A) 1 (B) 6 ©) 8 (D) 12
(xx +2)3 % R & x 3 o ¥ -
A) 1 (B) 6 ©) 8 (D) 12

‘Two intersecting lines cannot be parallel to the same line’ is stated in the form
of :

(A) an axiom (B) adefinition (C) apostulate (D) a proof
3t feret Yt Ue & Y % TR e @ Wehd! ' 98 e R

(A) TFefr@w  (B) T R (C) wFefmon (D) TF suuf

In the given figure, it AB=DC, ZABD = ~CDB, which congruence rule would
you apply to prove AABD =ACDB ?
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(A) SAS  (B) ASA  (C) RHS (D) SSS

& T smefa #, aflk AB=DC qsn ZABD = ~CDB % @ AABD =ACDB fag =& & fa@@
ATTEHAT 1 i1 F1aH @] a1 € 2

D C

(A) SAS  (B) ASA  (C) RHS (D) SSS

Area of an equilateral triangle of side ‘a” units can be calculated by using the

formula :
(A) 52 (s — a)2 (B) (s — a)afsz (s—a)
(C) s(s —a)? (D) (s—a)ys(s —a)

Teh FaTg S fSgaht oo ‘2’ T §, 1 &e 101 T | ufiehford foran < dehan ©

A) s2(s —a)? (B) (s —a)ys?(s —a)
(©) ys(s—a)’ (D) (s—a)ys(s —a)

The area of a rhombus is 96 cm2. If one of its diagonals is 16 cm, then the length of its sides is.
(A) 12cm (B) 10cm (C) 8cm (D) 6cm
et Taegds =1 &%at 96 cm? ¥ 1 IS ST Tk fashol st TE 16 cm &, <1 SHehT SIS ol oreag B -

(A) 12cm (B) 10cm (C) 8cm (D) 6cm
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10.

11.

12,

13.

Section-B
Question numbers 9 to 14 carry two marks each.

Find a point corresponding to 3 + 2 on the number line.

T @ R T fag F1d Sife St g 3 + 2 1 gwian an

Factorise : (12x2—7x+1).

(12x2—7x +1) % TUHETUE HITWT |
Expand : - (1 + ZT
P ’ x 3

3
THR iy : G+%j

A B P QX Y
In the above figure, if AB=PQ, PQ=XY, then AB=XY. State True

or False. Justify your answer.

A BP QX Y

Srde Rt H, afe AB=PQ, PQ=XY & @ AB=XY | 9a=T 98 ¥ T T A1 3T | M

IW 1 Sifa ST

In the given figure, /B< /A and ZC</D. Show that AD < BC.

B D

A C

& T epfa H, /B< LA dd LC< /D %, < e3isy fom AD < BC #1
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D
O
A C
OR
In the given figure, PQ||RS, ZPAB=70°and ZACS=100°. Find the value of x.
o A Q
- 70° -
x
100°
-< R £ 3 S >

A & 7 s #, PQ||RS, ZPAB="70°a £ACS=100°#1 x ol =1 31 g

P A ('2

|
«

Y

A
Y

14. The perpendicular distance of a point from the x-axis is 4 units and the
perpendicular distance from the y-axis is 5 units. Write the co-ordinates of such
a point if it lies in the :

(i) IQuadrant (i) II Quadrant

(iii) I Quadrant (iv) IV Quadrant

T fag 1 x— 3141 9 Aiferh g0 4 THE © a1 SR Y- 18 § qifeew g 5 T ¢ 39 fag % e
fafee afc s :

() T=gufad g (i) II =gufar & 21
(iii) II =gt & 21 (iv) IV =gafo & 21
Section-C

Question numbers 15 to 24 carry three marks each.
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15.

16.

17.

18.

19.

Express 03 as a rational number in the form £ where p and q are integers and
q

q#0.

03 = itk wem % ®u & £ & w5 § o Fifsi sl p aen q gt &, @en q 0.
q

OR
Find the square root of 3.6 geometrically.

st faf | 3.6 =1 aigel 9 st

¢ 5+23
7+ 43

= a + b3, find the values of a and b.

5+23 Py
afg YN —a+bJ3 @ @ ‘a ‘D & = A i

If p2 +4q2 + 9r2 = 2pq + 6qr + 3pr, prove that p3 +8q3 +27r3 =18pqr.

afz p2 +4q2 +9r2 = 2pq + 6qr + 3pr B, A fag Ff 5 p3 +8q3 +27r3 =18pqr.
OR

Divide —x3—27 by —x—3.

g — x3 — 27 # —x — 3 ¥ faufom Ffw

Factorise : i) 3x*+Bx-2
(i) 2x%+3x +2
EEE RIS (i) 3x%+ Bx -2
(i) V2x2+3x +2
In the figure given below, [ and m are lines intersecting at A. Pisa

point equidistant from / and m. Prove that AP bisects the angle

between [ and m.
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1
W/
< P >
A
N
m

T <t empfa H, <1 X@d [ 3R m foig A R ufdese et €1 P U faig ©, S ] oiRom ¥ v ¥ fag
Fifey for AP @nedi [ 3R m & &= & vl ol gafgefsd & 1

1
V/
< P >
A
N
m

OR

In the given figure find the value of x, if BC|DE and ZABC=150° and
ZBAD = 30°.

20 I Fig. given below, I||m. Bisectors of ZRQB and ZDRQ intersect at P. Find the
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measure of ZRPQ.

& D5

© R

A Q\B >»m
E\ D,

A

<A Q\B}m

21.  Inthe figure, PS=QR and ZSPQ= ZRQP. Prove that:
(i) APQS=~AQPR (ii)) PR=QS (iii)j «QPR= ZPQS

=1 srRfa ®, PS=QR @2 ZSPQ= ZRQP ¥ fag =ifs f

(i) APQS ~AQPR (ii) PR=QS (iii) ZQPR= /PQS
S

P

Q ' R

22,

In the given figure, sides AB and AC of AABC are extended to points P and Q
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23.

24,

25.

respectively. Also ~PBC< ~QCB. Show that AC > AB.

3 g oTpfa § AABC &t =& AB e AC 91 fag, P den Q @& aglE 7€ § ao

/PBC< ~QCB. z3risu fo AC > AB.

In the given figure, AB||CD and CD|EF. Also, EA 1L AB. If /BEF=55°, find

the values of x, y and z.

A A A

A c E

/y
B Vx - F

Y A4 Y

% & & srfa #, AB||CD, CD||EF @=n EA L AB# aft #/BEF=>55°%, @t x, y 3t z % o

T SHTeTT |

A A A

A c E

The sides of a triangle are in the ratio 12 : 17 : 25 and its perimeter is 540 cm.

Find the area of the triangle.

T et e 12 1 17 : 25 & oud | € qen 35eht uiarg 540 §.5. §1 38 s &1 ke 9

FifeT |

Section-D

Question numbers 25 to 34 carry four marks each.

Simplify : 1 + 1 + 1 + 1
Py T B " Brd B+ T+ B
T R 1 1 1 1

245 Bile  o+N7 T+

OR
1 3

2
BB Bl B2

Simplify,
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26.

27.

28.

29.

30.

2 1 3
TR B B B

Find two irrationals between ; and % .

;ﬁ;%ﬁﬁéwmﬁmﬁﬁql

Factorize : 27p3(4q —2r)3 + 64q3(2r - 3p)3 +8r3 Bp— 4q)3.

TREs Ffw: 27p3(4q — 2r)3 + 64q3(2r — 3p)3 + 8r3(3p — 4q)3.

Factorise : p(x) = x>~7x —6.

TUHETE FT: p(x) = 20— 7x —6.

Prove that (x+y)3 — (x—y)3 — 6y (x2 —y2) =8y3.

f it & (x+ )3 — (x—y)3 — 6y (x2 —y2) =8y3 &1

OR
Factorise : 4x4 +7x2 -2

e Ff : dxd + 732 -2

The ar(AOAB) = ar(AOPQ). Find the ordinate of point A.

A
(-2,6)F

A(3,a+1)

\ 4

gFA(AOAB) = &wa(AOPQ) &, < fag A %t Fife (ordinate) I it |
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(-2,6)P
A(3,a+1)

A
0
O
=

4

3 In the given figure, the bisectors of ~ABCand «BCA of AABC intersect each

other at a point O. Prove that #BOC =90° + 4—2A

A

& e amfa § AABC % ZABC @a /BCA & @mfguseh e fag O W fier €, @t fag shifeg fo

/BOC = 90° + 4—2A.

A

32.  Prove that the two triangles are congruent if any two angles and the included side of
one triangle is equal to any two angles and the included side of the other triangle.

Ife forelt fest & < 101 R STt o O S & A9 & v qen st=id (included) ST & ster
3T SR & Al T HIfST 5 A1 1y Fafmaw 2|

33. In the given figure, AB=CF, EF=BD and ZAFE = ZCBD, prove that

(i) AAFE = ACBD and (ii) AE=CD
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D
A\B//F -
E

& ¢ arerfa #, AB = CF @en EF = BD 3R <AFE = ZCBD ®| g shife fo

(i) AAFE = ACBD a1 (ii) AE=CD %

D
AvF -
E

34. In the figure below AB is a line segment. P and Q are points on opposite sides
of AB, such that each of them is equidistant from the points A and B. Show that
the line PQ is the perpendicular bisector of AB.

P

//

A C

%

Q

arrepfa # forg P iR Q Y AB =1 faadia fewnsii # 56 wehr feerd € 5ot farg A iR B & g wh wM 71
fag Fifsy fF PQ , 41 AB &1 ol wafgreres & |

P

//

7
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